


Q1. Select the word-pair in which the two 

words are related in the same way as are the 

two words in the following word pair.

उस शब्द-युग्म का चयन करें जिसमें दो शब्द उसी प्रकार 

संबंजित हैं िैसे जनम्नजिजित शब्द युग्म में दो शब्द हैं Butterflies : Lepidopterist/ जततजियााँ : 

िेजिडोप्टेररस्ट
(A)Chromosomes: 

Botanist 

(B) Postcards : 

Deltiologist 

(C) Jewels : Jeweler

(d) Maps : 

Cartographer

(A)गुणसूत्र: 

वनस्िजतशास्त्री

(B)िोस्टकाडड: 

डेजटटयोिॉजिस्ट

(C)आभूषण : िौहरी

(D)मानजचत्र: 

मानजचत्रकार



Q2. Arrange the following words in a logical 

and meaningful order 1.Monkey 2. Elephant 3. 

Rat 4. Fly 5. Lion

जनम्नजिजित शब्दों को तार्कडक और सार्डक क्रम में 

व्यवजस्र्त करें 

1. बंदर 2. हार्ी 3. चूहा 4. मक्िी 5. शेर

(A)3, 4, 1, 

5, 2 

(B)4, 3, 1, 

5, 2 

(C)4, 1, 3, 

2, 5 

(D)3, 4, 1, 



Q.3 Select the option that is related to the 

third letter-cluster in the same way as the 

second letter cluster is related to the first 

letter-cluster. 

उस जवकटि का चयन करें िो तीसरे अक्षर-समहू से उसी 

प्रकार संबंजित ह ैिैसे दसूरा अक्षर समूह िहिे अक्षर-

समूह से संबंजित ह ै

GATE: HXYX: : SINK: ________

(A)TGS

E 

(B)TET

D 

(C)TES

D 



Q.4 Three of the following four words are alike in a 

certain way and one is different. Pick the odd one out.

जनम्नजिजित चार शब्दों में से तीन एक जनजित तरीके से समान हैं और 

एक जभन्न है

(A) Roar 

(B) Hoot 

(C) Bray 

(D) 

Amble



Q.5 In a code language, BLEND is written 

as ENHPG. How will WINNER be written in 

the same language? 

एक कूट भाषा में BLEND को ENHPG जििा िाता 

ह ै उसी भाषा में WINNER कैसे जििा िाएगा?

(A)ZKQPHT 

(B)ZKQPHU 

(C)YKQPHT 

(D)ZKOPHT 



Q.6 If V=44 and FAT=54, then how will 

you code LATE?

यदद V=44 और FAT=54 ह,ै तो आि LATE को 

कैसे कोड करेंग?े

(A)76 

(B)110 

(C)54 

(D)19



Q.7 In a family, B is the father of K.B has only 

two children. K is the brother of R. R is the 

daughter of P. A is the grand-daughter of P. S 

is the father of A. how is S related to K? 

एक िररवार में, B, K का जिता ह ै B के केवि दो बच्चे हैं  

K, R का भाई ह ै R, P की बेटी ह ै A, P की िोती ह ै S, 

A का जिता ह ै S, K से कैसे संबंजित ह?ै

(A)Son 

(B)Brother-in-

law 

(C)Brother 

(D)Son-in-law



Q.8 A plastic toy costs Rs7. A plastic 

spoon costs Rs5. X spends Rs38 on 

these plastic items. Find the number of 

plastic toys he/she purchased?

एक प्िाजस्टक के जििौने की कीमत 7 रुिये ह ै एक 

प्िाजस्टक चम्मच की कीमत 5 रुिये ह ै X इन 

प्िाजस्टक वस्तुओं िर 38 रुिये िचड करता ह ै उसने 

िरीद ेगए प्िाजस्टक के जििौनों की संख्या ज्ञात 

कीजिए? (A)3 

(B)4 

(C)5 

(D)2 



Q.9 Three of the following four letter-clusters are 

alike in a certain way and one is different. Pick the 

odd one out

जनम्नजिजित चार अक्षर-समूहों में से तीन एक जनजित तरीके से 

समान हैं और एक जभन्न ह ै

(A)HSKPM 

(B)PKSHV 

(C)DWGTJ 

(D)JQMNP 



Q10. Select the set in which the 

numbers are related in the same way 

as are the numbers of the following 

set.

उस सेट का चयन करें जिसमें संख्याएाँ उसी 

प्रकार संबंजित हैं िैसे जनम्नजिजित सेट की 

संख्याएाँ हैं 

(4, 14, 44) 
(A) (11, 35, 

107) 

(B) (5, 15, 30) 

(C)(7, 23, 69) 

(D)(9, 30, 57) 



Q.11 Which two sings should be 

interchanged in the following equation to 

make it correct? 

जनम्नजिजित समीकरण को सही बनाने के जिए इसमें 

दकन दो जचन्हों को आिस में बदिा िाना चाजहए?

𝟏𝟑𝟐 × 𝟏𝟏 + 𝟖 − 𝟑 ÷ 𝟏𝟐 = −𝟏6

(A)+ and –

(B)× and ÷

(C)+ and ×

(D) – and 

×



Q.12 Three of the following four numbers 

are alike in a certain way and one is 

different. Pick the number that is different 

from the rest.

जनम्नजिजित चार संख्याओं में से तीन एक जनजित 

तरीके से समान हैं और एक जभन्न ह ै

(A)5138 

(B)3128 

(C)9178 

(D)7158 



Q13. Select the set in which the 

numbers are related in the same way 

as are the numbers of the following set.

उस सेट का चयन करें जिसमें संख्याएाँ उसी प्रकार 

संबंजित हैं िैसे जनम्नजिजित सेट की संख्याएाँ हैं 

(4, 152, 6) 

(A) (5, 287, 

8) 

(B) (4, 179, 

7) 

(C)(3, 55, 

4) 

(D)(2, 208, 



Q.14 Statements: All rocks are oceans./ सभी चट्टानें महासागर हैं 

All oceans are balloons./ सभी महासागर गुब्बारे

हैं 

Some watches are balloons./ कुछ घज़ियााँ 

गुब्बारे हैं 

Conclusions: I. Some balloons are rocks./ कुछ गुब्बारे चट्टानें हैं 

II. Some watches are oceans. / कुछ घज़ियााँ 

महासागर हैं 

III. All oceans are rocks./ सभी महासागर चट्टानें हैं 
(A)Only conclusion II 

follows. 

(B)Only conclusions I and III 

follows. 

(C)Only conclusions I and II 

follows. 



Q.15  Which number will replace the question 

mark (?) in the following series? 

जनम्नजिजित श्रंििा में कौन सी संख्या प्रश्न जचह्न (?) का 

स्र्ान िेगी?

5,     8,       20,        34,        76,          142,         

?
(A)284 

(B)302 

(C) 296 

(D) 272 



Q.16 Select the number-pair in which the 

two numbers are related in the same way 

as are the two numbers of the following 

number-pair.

उस संख्या-िो़िी का चयन करें जिसमें दो संख्याएाँ 

उसी प्रकार संबंजित हैं िैसे दक जनम्नजिजित संख्या-

िो़िी की दो संख्याएाँ हैं 

7 : 85
(A)3:31 

(B)2:9 

(C)5:43 

(D)8:113 



Q.17 How many triangles are present in the 

following figure.?

जनम्नजिजित आकर जत में दकतने जत्रभुि मौिूद हैं?

(A)14 

(B)15 

(C)16 

(D)13 



Q.18 ‘Chickenpox’ is related to ‘Virus’ in the 

same way as ‘Ringworm’ is related to ‘__

'जचकनिॉक्स' का संबंि 'वायरस' से उसी प्रकार ह ैिैसे 

'दाद' का संबंि '__' से है

(A)Protozoan

(B)

Bacterium 

(C)Nematod

es

(D) Fungus 

(A)प्रोटोिो

आ

(B) िीवाणु

(C) नेमाटोड  

(D)

कुकुरमुत्ता



Q.19 Select the combination of letters that 

when sequentially placed in the gaps of the 

given letter series will complete the series.

अक्षरों के उस संयोिन का चयन करें जिसे दी गई अक्षर 

श्रंििा के अंतराि में क्रजमक रूि से रिने िर श्रंििा िूरी 

हो िाएगी 
a b c _ d a b_ _ d _ b _ c d a 

b _c _ 

(A)cacacd

c

(B)acacdc

c

(C)ccaacd

c



Q.20 Select the Venn diagram that best 

illustrates the relationship between the 

following classes.

उस वेन आरेि का चयन करें िो जनम्नजिजित वगों के बीच 

संबंि को सवोत्तम रूि से दशाडता ह ै

Lethargy, Anxiety, Power/ सुस्ती, चचंता, शजि

(A)A 

(B)B 

(C)C 

(D)D



Q.21 If all the letters in the word SCRIMMAGE are 

arranged as they appear in English alphabetical 

order, the position of how many letters will remain 

unchanged after rearrangement?

यदद SCRIMMAGE शब्द के सभी अक्षरों को अंग्रेिी वणडमािा 

के क्रम में व्यवजस्र्त दकया िाए, तो िुनव्यडवजस्र्त करने के बाद 

दकतने अक्षरों की जस्र्जत अिररवर्तडत रहगेी?

(A)None 

(B)One 

(C)Two 

(D)Thre

e



Q.22 If ‘eye’ is called ‘hand’, ‘hand’ is 

called ‘mouth’, ‘mouth’ is called ‘ear’, ‘ear’ 

is called ‘nose’, and ‘nose’ is called 

‘tongue’. With which of the following would 

a person hear ?

यदद 'आंि' को 'हार्' कहा िाता ह,ै 'हार्' को 'मंुह' 

कहा िाता ह,ै 'मंुह' को 'कान' कहा िाता ह,ै 'कान' को 

'नाक' कहा िाता ह,ै और 'नाक' को 'िीभ' कहा िाता 

ह ै एक व्यजि जनम्नजिजित में से दकसके सार् सुनेगा?(A)eye 

(B)mou

th 

(C)nos

e 



Q.23 In a row of 15 children, when Raju was 

shifted three places towards right, he 

becomes 8th from the right end. What was 

his earlier position from the left end in the 

row?

15 बच्चों की एक िंजि में, िब रािू को तीन स्र्ान दाईं 

ओर स्र्ानांतररत दकया गया, तो वह दाएं छोर से 8वें 

स्र्ान िर आ गया  िंजि में बायें छोर से उसका जिछिा 

स्र्ान क्या र्ा?

(A)14 

(B) 5 

(C) 6 

(D) 12



Q.24 A is B’s Sister. C is B’s Mother. D is 

C’s Father. E is D’s Mother. Then how is A 

related to D?

A, B की बहन ह ै C, B की मााँ ह ै D, C का जिता ह ै 

E, D की मााँ ह ै तो दिर A, D से कैसे संबंजित ह?ै

(A)Grandmot

her 

(B) 

Grandfather 

(C) Daughter 

(D) 

Granddaught



Q.25 In a certain code language, 

MACHINE is coded as 5861944. 

How will STORK be coded in that 

language? 

एक जनजित कोड भाषा में, MACHINE को 

5861944 के रूि में कोजडत दकया िाता ह ै 

उस भाषा में STORK को कैसे कोजडत 

दकया िाएगा?

(A) 

96479 

(B) 12692                              



THANK YOU


